
List of Cuts applied 

//0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

//PMinus = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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List of Cuts applied 

0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

//PMinus = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5
2)2Missing Mass Squared (GeV/c

0

200

400

600

800

1000

1200

1400

1600

1800

2000

MissingMassSquared

Entries  3026545

Mean   0.8516

Std Dev    0.2741

Missing Mass Squared

0 0.5 1 1.5 2 2.5 3 3.5 4
Missing Energy (GeV)

0

500

1000

1500

2000

2500

3000

3500

4000
MissingEnergyMeasured

Entries  3026545

Mean     1.05

Std Dev    0.3725

Missing Energy

1− 0 1 2 3 4 5
Missing Momentum (GeV/c)

0

500

1000

1500

2000

2500

3000

MissingMomentumMeasured

Entries  3026545

Mean   0.4137

Std Dev    0.5915

Missing Momentum

1− 0 1 2 3 4 5
Missing Neutron Momentum (GeV/c)(constrained)

0

500

1000

1500

2000

2500

3000

3500

4000

MissingConstrainedMomentum

Entries  3026545

Mean   0.3818

Std Dev    0.6045

Missing Constrained Momentum

0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2
)(Kinfit)2 Invariant Mass (GeV/c-π+π

0

200

400

600

800

1000

1200

1400

1600

1800

) 
2

#C
om

bo
s 

/2
00

(M
eV

/c

h_2Pi
Entries  3019375

Mean    1.358

Std Dev    0.5351

Invariant Mass PipPim

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
pMinus

0

2000

4000

6000

8000

10000

12000

pMinus
Entries  3026545

Mean    1.061

Std Dev    0.3273

PMinus = E_miss - Pz_miss



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5
2)2Missing Mass Squared (GeV/c

0

100

200

300

400

500

600

700

MissingMassSquared

Entries  247924

Mean   0.8666

Std Dev    0.2522

Missing Mass Squared

0 0.5 1 1.5 2 2.5 3 3.5 4
Missing Energy (GeV)

0

200

400

600

800

1000

1200

1400

MissingEnergyMeasured

Entries  247924

Mean   0.9422

Std Dev    0.1326

Missing Energy

1− 0 1 2 3 4 5
Missing Momentum (GeV/c)

0

500

1000

1500

2000

2500

MissingMomentumMeasured

Entries  247924

Mean   0.1664

Std Dev    0.1057

Missing Momentum

1− 0 1 2 3 4 5
Missing Neutron Momentum (GeV/c)(constrained)

0

500

1000

1500

2000

2500

3000

3500

MissingConstrainedMomentum

Entries  247924

Mean   0.1264

Std Dev    0.09654

Missing Constrained Momentum

0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2
)(Kinfit)2 Invariant Mass (GeV/c-π+π

0

500

1000

1500

2000

2500

3000

3500

4000

) 
2

#C
om

bo
s 

/2
00

(M
eV

/c

h_2Pi
Entries  247611

Mean   0.9501

Std Dev    0.4195

Invariant Mass PipPim

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
pMinus

0

1000

2000

3000

4000

5000

6000

7000

8000

pMinus
Entries  247924

Mean    0.989

Std Dev    0.1137

PMinus = E_miss - Pz_miss



List of Cuts applied 

0.3 < MM2 < 1.3(Missing Mass Squared)

0.3 < ME < 1.3(Missing Energy)

//PMinus = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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List of Cuts applied 

0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

PMinus (0.87_1.06) = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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List of Cuts applied 

0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

PMinus (0.6_1.4) = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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List of Cuts applied 

0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

PMinus (0.6_1.4) = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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List of Cuts applied 

(0.8 < MM2 < 11.1) //0.3 < MM2 < 1.3(Missing Mass Squared)

//0.3 < ME < 1.3(Missing Energy)

//PMinus (0.6_1.4) = E_miss -Pz_miss

C.L > 0.001
BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm
Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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